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16= public static int getCircumference(int radius) {
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3 static int radius = 10;
4 public static final int PI = 3;
5
6 static int getDiameter() { = rp / %
7 int diameter = radius * RADIUS_TO_DIAMETER; t KQVVLP?‘&/
8 return diameter; _ _}é
0 g N SR ¢
10= static int ‘getDiameter(int radius) { Y/IWB‘/)
11 return ragus * RADIUS_TO_DIA ; ﬁ{
12 } _ % V U’G
13 static void setRadius(int newRadius) { =T - -
14 radius = newRadius; { 00(
15 }
le= public static in getCir‘cumfer'ence nt raghus) {
17 return ggetDiameter(rayus \_]PA/Q\WP
19= public static int getCircumferencel() { Y i
20 return getDiameter() * PI; (PQ\/&‘W[E{B/
21 }
22 private static int getCircumference2() { 7(%
23 return getCircumference(radius); ﬁc (;( >
24 } (/
m
25 } A\c 914@ Z
40 i



el
sz&&
(ucé'la (ﬂ

@C
: o d
@%f%
5 C
?

J (s

q
PobiL
(ﬂé

/ 7va/&zf &




@ASS M%\’{a % 7
Tmﬂfc @ at o = 3; }\)Q @M 74
I e o

ﬂ af ot
\S ok gﬂwg e A / ,,{/ W ﬁfﬂ)ﬁ 73

MM“ %O s MZ{//(—«-)
/ 3 Whabith [0 = 24
( ( mArar



e Uabth2 T SN Oy\

S Mt
. o - ¢katil VC@
L HEe1TME 0L'2

LR o
1 (Zg(go (ASS MyMa%ZQﬂ;g

| Myl/{afhz %
Mo\ Nﬂfh 2 j




